ggtg%%nmv

[630 |

SR 3kv

Abbreviations
Mark Leaend
Jsrrent tronsformer
YCB  Vacuum clrcult breaker
LA thtninn Arractar
¥ Voitaae transtormer
AVR  Auto voltaae reaulator
A Ammeter
v Yolt meter
MCCB  Molded case circuit breaker
ELCB  Earth leakaae tvoe breaker
SC  Static Capacitor
ries Reactor

STr  Stntinn Tranafarmer
AS/\  Ampere/Voltaae nhase selection awiteh

Symbol
ANS FC Funrtinn
2R 0l temnarature (Main & O T 1ankd

27 U < Inder valtane relav
il level (Main & OLTC tank)

80 [ >

51 [ > Over current relay

516 1=%=> Overa L around relav
63Q Pressure relay (OLTC)

79 V™1 Auto Re—closina relav

90 Auto voltaas reaulatina relay
96D Pressure relief relav
96-1 Buchholz relay
96-2

DWG No. RC—S-03: SINGLE LINE DIAGRAM OF BOOSTER STATION
(RANCH COMMUNITIES IN CROSS RIVER STATE)
DWG No. RC~S—-03: 7-249-27-va vERERR
(702U RA-MIYF2132 27 —%E)
3-49



S=1,/200

PUBLIC ROAD

ACCESS ROAD
(BY NIGERIAN SIDE)



Abbreviations

Mark
cT
vCa
LA
V1

Leaend
Current transformer
Vacuum circuit breaker
Liahtnina arrester
Voltaae transformer
Auto voltage requlator
Ammeter
Volt meter
Molded case circuit breaker
Earth leakage type breaker
Static Capacitor
Siries Reactor
Station Transformer

Amnere inltane nhnee calestinn ewitrh

DWG No. RC—S—-04: SINGLE LINE DIAGRAM OF CAPACITOR STATION
(RANCH COMMUNITIES IN CROSS RIVER STATE)
DWG No. RC—S—04: %+ Ay7¢ -+« A7-V3 VERERR
(70R -V R-M7Y #3227 ~#E)

3-51

Function
Oil temparature (Main & OLTC tank)
Under 1 r relav

O leve! (Main & OLTC tank)

Over current relay

Over current oround relav
Pressure relav (OLTC)

Auto Re—closina relay

Auto voltaqe requlating relay
Presaure relief relay

Buchholz relay




33kV SWGR Cubicles

S=1/200

DWG No. RC—S—-02: SITE LAYOUT PLAN OF CAPACITOR STATION
(RANCH COMMUNITIES IN CROSS RIVER STATE)
DWG No. RC-S—-02: %« A¥y7¢ -+ A7-vaYREERR
(70A« VA-MIYF2132 27 ~HE)
3-52



33kV TRANSMISSION LINE
POLE TYPE G i

33kV Switchgear

oLTC
63Q
Voltage Regulator 3305

TR 34 50Hz
33kV+5%~—25%/33kV
(13Taps 2.5%Step)
3MVA

S33kV Switchgear
L

Abbreviations

3
vTX CT  Current transformer

%M/]jgi VCB  Vacuum circuit breaker

LA Liahtning arrester
VT Voltage transformer

X3 AVR  Auto voltage reaulator
200,/5A A Ammeter
30VA
10 V. Volt meter

MCCB Molded case circuit breaker

cr3 ELCB Earth leakage type breaker
§83£5A \ STr  Station Transformer
Cl: 10P10 AS/VS  Ampere/Voltage phase selection switch
Symbol
ANS EC Function
26 Qil temnarature (Main & Ol TC tank)
27 U < Under voltaqe relay
33Q 0il level (Main & OLTC tank)
50 [ >  Over current reloy {nstantaneous)
51 [ > Over current relay
516G 1> Over current around relay
63Q Pressure relay (OLTC)
79 0-=1  Auto Re-closina relay
90 Auto voltage requlating relay
96D Pressure relief relay
gg__; Buchholz relay

33kV TRANSMISSION LINE

DWG No. IC—S—-02: SINGLE LINE DIAGRAM OF BOOSTER STATION
(IBEDU IBIAIKOT CLAN IN AKWA IBOM STATE)
DWG No. IC-S-02: 7-24-:27-vavERERR
(797 - 4KLMARFo - 4ET 42y } - 77 VBE)
3-53



PUBLIC ROAD

OO

S=1/200

ACCESS ROAD
(BY NIGERIAN SIDE)

33kV O/H

U v on

wdl

-
ol

<
Sl

33kV SWGR Cubicles
/

o S aQ

DWG No. IC-S-01: SITE LAYOUT PLAN OF BOOSTER STATION
(IBEDU IBIAIKOT CLAN IN AKWA IBOM STATE)
DWG No. IC=S-01: 7-2%--A7-va yAEERR
(797 AKLMARFs « AE740y b+ 7IVBE)

3-54



for LV Accessories

TA
B
1C
TE

Goncrete Pole 10.36m

Preformed Top Tie For ACSR158(Wolf)

33kV Pin Insulator

Crossarm75x75xt3.2-2850(Insulator)
Crossarm Brace Flat Bar Type

PVC Protection Pipe
Stainless Band

Ring saddle for sus band
Ground Rod

Lead Wire For Ground Rod

Compression Gonnector(Cu22/22)

Compression Terminal
IV 22sqmm

A 22samm

Bolt&Nut M16-250
Bolt&Nut M16-220
Bolt&Nut M16-120
Sauare Washer

10B Danger Plate
10C Plate for Jananese Flag

ARTNO  DESCRIPTION

DWG No. DL-E-01: Intermediate Pole [ Angle 0 to 5 deg] Pole Type A
DWG No. DL-E-01: 33kVEEL4E [0 & ~ 5 & ] B DIERI A(REE:;10360)

3-55

avY\—bE 1036m
JEH#IF 4 AGSR158mm2F
33KV EBSLIL

B 75x75x3.2x2850 (Insulator)

F—LAA (EERE)
EHRERFBAPVCA(T
ATIVANI P
ATVLANRYERYEIL
FxUIRHAE 161500
|J—FinF
EFEIA243 Cu22/Cu22
EEEF

I FyM16x250
RV Ty M16x220
Ly RM16x120
BREE

A i Al

1Y R

(5=1/70)



for LV Accessories

10B
10C

'ARTNO

Concrete Pole 10.36m

33kV Pin Insulator

Preformed Side Tie For ACSR158(Wolf)
Crossarm75x75xt3.2-2850(Insulator)
Crossarm Brace Flat Bar Type

Stay Band 140

Dead End Grip For Thimble

Stay Wire

Dead End Grip For Insulator

Stay Insulator

Turmbuckle

Stay Rod

Stay Plate

PVC Protection Pipe

Stainless Band

Ring saddle for sus band

Ground Red

Lead wire terminal for ground rod 22sa.mn
Compression Connector{Cu22/22)
Compression Terminal

IV 22sqgmm

A 22samm

Bolt&Nut M16-250

Bolt&Nut M16-220

Bolt&Nut M16-120

Sauare Washer

Daneer Plate
Plate for Japanese Flag

DESCRIPTION

1 3V%)—pE 1036m

3 3skv LWL

3 (M4 ACSR158mm2H
Bk 75%75x3.2x2850 (Insulator)

2 7—LAA(THEY)
KR/ \/F D=14em

2 EATUGTLYT L ESEmm2EB

1im BfRH>EW LY ER45mm2

2 #7197 HLH45mm2 A
THAMLL IkVA

1 A=1\99)
TRE

I X®IL—b

1 ERRESAPVC/(7

9 ATVLANUE

3 ATVLANUEAHYERIL

6 EdGEBRE 16x1500

4 —Km¥

6 &3I4 Cu22/Cu22
EERF

10

10n

IV 9 M16x250

RIbbFviM16x220

RV M16x120

8 AE&

()

1 ERERL
1 B

Y §H

DWG No. DL-E-02: Light Angle Pole [ Angle 5 to 15 deg] Pole Type B
DWG No. DL-E-02: 33kVEIERE [5 & ~ 15 & ] EAEDERI B (8=1/170)

3-56



1B K Steel Pole 10.36m

*2J

33KV Pin Insulator
Jisc Insulator Set 33kV

Preformed Side Tie For ACSR158(Wolf)
Sompression Connector(AGSR158/ACSRISE

Grossarm75x75xt3.2-2850(Insulator)
Stay Band 190

Dead End Grip For Thimble
Stav Wire

Dead End Grip For Insulator
Stay Insulator

Turmbuckle

Stay Rod

Stay Plate

PVC Protection Pipe
Stainless Band

Ring saddle tor sus band
Ground Rod

Lead wire terminal for around rod 22sa.mn

Gomnrassinn ConnantarlCu22/22)
Compression Terminal

IV 22sgmm

A 22sqmm

Bolt&Nut M16-120

Bolt&Nut M16-400

Square Washer

Danger Plate
Plate for Japanese Flag

DESCRIPTION

|EEH 10.36m
33V B

2

2

6

2 fl#44 ACSR158mm2

6 EREIR73 ACSR158/ACSRIG!
2 Bk 75x75x3.2x2850 (Insulator)
4 T8RIAUK D=19%em

8 HRTIYTOUTILEBSMm2E
4| B i iH-EE K V) ER45mm2

8 AT HLILEH4SmmZ A
4 ZHANNL WBKVE

4 =uwIn

4 THiE

4 T8/IL—bk
EnREMEPVC/INA(T

r &2V Vi YAV
ATFIVANEHTEI
WETFENE 16x1500
K%

Fiiax4H%4 Cu22/Cu22
T

£ L h+whMiAvioN
RILR9hM10x100
BES

e =Tl R R
g5

1 EREERH.
1 Sikd,

ITY HE

DWG No. DL-E-03: Middle Angle Pole [ Angle 15 to 60] Pole Type C

DWG No. DL-E-03: 33kVAEH [ 15 ~ 60 & ] Bt DI&ERI C

3-57

(8=1/10)



1B*H Steel Pole 10.36m 2 WEE 1036m
*2J 33KV Pin Insulator 3 BkVEDLL

2X  Disc Insulator Set 33kV 6

2M  Preformed Side Tie For ACSR158(Wolf) 3 ACSR158mm

2R Compression Gonnecto{ACSR138/ACSR158 6 23743 ACSR158/ACSR158
JA  Crossarm?5x75xt3.2-2850(Insulator) 75x%75x3.2x2850 (Insulator)
3G Crossarm Brace Flat Bar Type F—L24 (4|%)

3N W-Crossarm Band for Steel Pole 1 "L\ FEEEER)
3Q Crossarm Band for Steel Pole I S LUAVAIN - 1-7-3::7)
4B  Stay Band 190 4 1328 D=19¢m

4C  Dead End Grip For Thimble 8 B7V)Y/v2/IVRsO mmIA
4D  Stay Wire 44n 1RO OFTWMLY 49 mm2

4E  Dead End Grip For Insulator 8 Ty T hALEH4Emm2E
4F  Stay Insulator 4 ML 33kVA

4G Turmbuckle 4 F=21\97
4H Stay Rod 4 i

4J  Stay Plate 4 [ Ve

5A  PVC Protection Pipe 1 EREMAPVCH(T

5B  Stainless Band 9 RTULANUE

5C  Ring saddle for sus band 3 RFVLANVFRYENL

5D  Ground Rod 6 16x1500

5E  Lead wire terminal for ground rod 22sqmm 4~ —KIE-F

5F  Compression Connector{Cu22/22) 6 173 Cu22/Cu22

5H Compression Terminal 1 ®¥
#3K IV 2Zsqmm 10n
¥L A 22samm Un

JG  Bolt&Nut M16-120 10 RILdFYIMI6x120

7D Bolt&Nut M16-400 6  RIVbTYM16x400

TE  Square Washer 20 HER

10B Danger Plate 1 AL

10C Plate for Japanese Flag LR

ARTNO  DESCRIPTION M B

DWG No. DL-E-04: Heavy Angle Pole [ Angle 60 to 90] Pole Type D
DWG No. DL-E-04: 33kV AE4E [ 60 fE ~ 90 fE ] B4 DFERI D (8=1/70)
3-58



1B H Steel Pole 10.36m

*2J
x
M
R
3A
4B
4
D
'3
o
4G
4H

10B
10C

33kV Pin Insulator
Disc Insulator Set 33kV

Preformed Side Tie For ACSR158(Wolf)
Namnrassinn Connectad AGSR158/ACSR15E

Crossarm75x75xt3.2-2850(Insulator)
Stay Band 190

Dead End Grip For Thimble
Stay Wire

Dead End Grip For Insulator
Stay Insulator

Turmbuckle

Stay Rod

Stay Plate

PVG Protection Pipe
Stainless Band

Ring saddle for sus band
Ground Rod

Lead wire terminal for ground rod 22sq.mm

Compression Gonnector{Cu22/22)
Compression Terminal

IV 22samm

A 22samm

Bolt&Nut M16-120

Bolt&Nut M16-400

Square Washer

Danger Plate
Plate for Japanese Flag

DESCRIPTION

DWG No. DL-E-05: Section Pole (Pole Type E)
DWG No. DL-E-05: 33kV 5184t EAXDIERI E

3-59

NN

m

10.36m
Bkv EDWL

#4524 ACSR158mm2
ACSR158/ACSR158
1 75x75x3.2x2850 (Insulator)
13F D=19¢m
79T V07 )V A4Smm2 A
EfOH-EHKY #45mm2
7))y TN R4dsmm2 B
AL 33kVA
L IACY) |2
R
i7L—b
APVC/SAT
ATFILRIVR
ATVLARVERYEN
16x1500
J_
Cu22/Cu22
INGF

RILbFybMI6x120
RILAFyM16x400

w4l

(8=1/80)



1B | Steel Pole 10.36m 2 @EH 1036m
*2J 33KV Pin Inusulator 4 33V EVHLL
2L Preformed Top Tie For AGSR158(Wolf) 3 JRRE®M ACSR158mmZH
2M  Preformed Side Tie For ACSR158(Wolf) 1 {#§#%1 AGSR158mm2H
2R  Comoression Connector/ACSR158/ACSR158 6 [EFER4 ACSR158/ACSR15!
2X  Disc Insulator Set 33kV 3
JA  Crossarm75x75xt3.2-2850(Insulator) 3 B 75x75x3.2x2850 (Insulator)
3G Crossarm Brace Flat Bar Type 2 F—LF 1 (4@E)
3L W-Crossarm Braceless Band For Steel Pole 2
4B  Stay Band 190 2 XM D=19cm
4G Dead End Grip For Thimble 4 =TY/IY/VJ 7 VRN
4D  Stay Wire 22n BFOHOFTHALY RO mm2
4E  Dead End Grip For Insulator 4 FTT7 )97 MVDLHESMmZAS
4F  Stay Insulator XBADLL 33kVH
4G Turmbuckle F=IN\YT N
4H  Stay Rod 2 XR%
4J  Stay Plate 2 X®IL—-h
5A  PVC Protection Pipe | EHMBEREAPVCN(T
5B  Stainless Band 9 ARTULAIUF
5C Ring Saddle For Pipe Band 3 ATVLANRVERYEIL
5D  Ground Rod 6 MISTCIEHLIE 161500
5E  Lead wire terminal for ground rod 22sq.mm 4 )—Fa+
5F  Compression Gonnector(Cu22/22) 6 EHEARIS Cu22/Cu22
5H  Compression Terminal 1 EEEF
*5K [V 22sqmm 10n
*L A 22samm 10n

—8W g 7A Bolt8Nut M16-250 1 TRILRFYRMI6x250
7C  Bolt&Nut M16-120 5 RILMTYMIBX120
7D Bolt&Nut M16-400 2 JVbTYRMI6X400
7F  Bolt&Nut M16-350 1 JUBTYM16%350

auy 1E  Sauare Washer 4 FES

—>
108 Danger Plate 1 BERETRAL
10C  Plate for Japanese Flag 1 B

'ARTHN - DESCRIPTION FB

5-@18hole for LV

(5=1/80)

DWG No. DL-E-06: T-off Pole (Pole Type F)
DWG No. DL-E-06: 33kV k4t B DFER F

3-60



1B H Steel Pole 10.36m

10B
10C

YARTNO

Disc Insulator Set 33kV

Preformed Side Tie For AGSR158(Wolf)
Compression Connector(ACSR158/ACSR158
Crossarm75x75xt3.2-2850(Insulator)
Stav Band 190

Dead End Grip For Thimble

Stay Wire

Dead End Grip For Insulator

Stay Insulator

Turmbuckle

Stav Rod

Stav Plate

PVG Protection Pipe

Stainlass Band

Ring saddle for sus band

Ground Rod

Lead wire terminal for ground rod 22sq.mm
Compression Connector(Cu22/22)
Compression Terminal

IV 22sqmm

A 2Zsamm

Bolt&Nut M16-120

Bolt&Nut M16-400

Square Washer

Danger Plate
Plate for Japanese Flag

DESCRIPTION

r

El- oI ]

-

—_ b o

(=R - R

—_—
N =

—_

Y

DWG No. DL-E-07: Dead End Pole (Pole Type G)
DWG No. DL-E-07: 33kV #&imt B DR G
3-61

AR 10.36m

HElF4 ACSR158mm2H
E#EIR3 ACSR158/ACSR158
R 75x75x3.2x2850 (Insulator)

13K D=19cm
R7I9TVI7 .

V) #845mm2

TVITHIL
AL 33K\
AV
]
%

EMIRIRBAPVC/N(

ATFULARUR

SXCREm@E 16x1500

J-FEF

494 Cu22/Cu22

RIVbybMi6x120
RILRF9EM16x400
@S

ERETRAL

L1z

(S=1/80)



1B I Steel Pole 10.36m

*2J
2X

20

2R
3A

4]
0

*B8B

*9A

9F

0B
e

33kV Pin Insulator
Disc Insulator Set 33kV

racket for Pin Post Insulator 33kV

Aluminum bind wire

Crossarm79x75xt3.2-2850(Insulator)

’rotection Pioe)
Sroscarm Breaceless Band For Steel Pole

Stey Band 180

Dead End Grip For Thimble

Stav Wire

Dead End Grip For Insulator

Stay Insulator

Turmbuckle

Stay Rod

Stay Plate

PVG Protection Pipe
tainless Band

Ring Saddie For Sus Band

Ground Rod

Lead Wire For Ground Rod

Compression 1erminal
IV 22samm
A 22sqmm

‘otection Pine
2ipe Saddle
Bolt&Nut For Braket

Bolt&Nut M16-12V
Bolt&Nut M16-400
Square Washer

<V Dsiconnecting Swith
33KV Lighting Arrester

PG Clamp (ACSR158/Gu100)

Danger Plate
Plate for Japanese Flag

DESCRIPTION

DWG No. DL-E-08: Cable Pole (Pole Type G1)
DWG No. DL-E-08: 33kV —JJL4 B DR G

3-62

10 36m
13kV EBRL

WERIA/FE 4.0mm

F=LR34AVANVF (REREH)

2 XW/\UF D=19cm

@ = D

DVIIVSI N

BT )97 UL A45mm2 A
TRHDL 3KVH
F=2I\Y7

SLRTE

RIV—-b
RERRAAPVCI (7
ATILANIE
ATIVANIEHYTR IV
WIS NS 16x1500
—FEF

HEIARIR Cu22/Cu22
EXGF

=7 AR T
TR 100mm
RILbFyMI0x100

RN T hM18x120
RIVETYM16x400
S

I3k

3KV

fTARIF AGSR158/Cu100

EERRTH
AMA

Y RH

(8=1/90)



1B H Steel Pole 10.36m 2 SEH 10.36m

2X  Disc Insulator Set 33kVA 6

2R Compression ConnectofACSR158/ACSR15 6 MEMED#R94 ACSR158/ACSR15!

JA  Crossarm75x75xt3.2-2850(Insulator) 2 P& 75%75x3.2x2850 (Insulator)

3L W-Crossarm Braceless Band For Steel Pole 2 P—AR4LANVIRIR(AERR)

3J  DCrossarm Breaceless Band For Steel Pole 2 P—LAALANVF(SITREH)
6

4B  Stay Band 190 E#/\VF D=19¢m

4G Dead End Grip For Thimble 12 BFTVVTV7 VR4Emm2H
4D  Stay Wire 56n BIMDHZTHLYR45mm2

4 Dead End Grip For Insulator 12 BF7)9THLL R4dmm2A
4F  Stay Insulator 6 WAL 33kVA

4G Turmbuckle 6 F=1\wal

4H  Stay Rod 6 TR

4J  Stay Plate § I\IL—b

5A  PVC Protection Pipe 2 ERHBRERMEEPVCI(T

5B  Stainless Band 26 ATVLANVE

5C  Ring Saddle For Pipe Band 8 ATULANVERYEN

5D  Ground Rod 12 16x1500

5E  Lead Wire For Ground Rod B8

5F  Compression Connector(Cu22/22) 15 [ENEaRI% Cu22/Cu22

5H Comprsssion Terminal 1 EEEF
#5K [V 22samm 20n
*5L A 22sqmm 20n

7C  Bolt&Nut M16-120 6 MILMTYMMIOKZ20

1D  Bolt&Nut M16-400 RILBTUBM16%400

JE  Square Washer 4 AES

*BA  33KVA Line Switch 1 kv AR HES

*9A  33KVA Lighting Arrester Bk BEH

98  Support For Lighting Arrester 33kV 3 WKV EFEHFDTER

9F PG Clamp(ACSR158/Cu100) 3 W73 AGSRI158/Cul00
10B Danger Plate fARRRIL

10C Plate for Japanese Flag AR

'ARTN  DESCRIPTION 7Y HE
(8=1/80)

Load Break Switch Pole (Pole Type H)
33KV $RIRFAERSR A BAEDIERI H



1B F Steel Pols 10.36m

*2J
X
2Q

48
4G
an
at
ar
a4
4

o
5E
oH
*IK

*5L

*6F

9F

8
iU
11

Pin Insulator(33kV)
Disc Insulator Set (33kV)
bind wire
at for Pin Insulator 33kV
Crossarm75x15xt3.2-2850Insulator) |

Z |M/E 1036m
B IEKVEY
3 |

1217 L3834 F il 4.0mm

5 |BR 75x75x3.2x2650 (nsulator)

3rossarm Braceless Band for Steel Pole
Stay Band 190
Jead End Grip For | imble
2V Wire
Dead End Grio For Insulator
Stav Insulator
Turmbuckle
stay Rod
stay Plate

Stainless Band

1z sadale for sus band
3round Rod
_ead wire terminal for round ro

Jomoression Terminal

V 2Zsa.mm
A 2Zsomm

Compression Terminal(PDC 22)

Bolt&Nut For Bracket
Bolt&Nut M16-120
i Bolt&Nut M16-3bU
1are Washer
33kV Fused Cutout Switch
3G Clamp ACSR158/PDC22
PDC22sa.mm

13KV Lighting Arrester

20 Glamp AUSR18/GuTW
Janger Plate

Flate for Japanese Flaz

Distribution transformer

UESURIFITIUN

DWG No. DL-E-10: Transformer Pole (Dead End) (Pole Type J1)

DWG No. DL-E-10: 33kV T[T %4k ({&i5H)

3-64

B DIER J1

2 | sk 75x75x3.2x2850 (B

B I 7—LIILAIN
6 1324/ V2K D=19cm
12 | BITVITI 1)

12 | %477 )7 AL A 45mm2Z R
6 | MM 33kVA
§ | F—=2N\Y7
8 1w
6 1TRTL—H
7
14 |ATYVANIE
4 | ATVVANIRRYEN
12| BEXTRE R
8 |U=—rm-F

1 [iEmmf

0m|
wm
I
|
3 | EREtEF PDC22mm2

8 mar Miuxiw
3 1RILMFYIMIBx120

8 | BES

3 1 11kV EA—ANYMF I+
3

40

|

| 33kV EES

|

3 18395 ACSR158/Cu100
|

1 | RRE%REL

1 ERR

1 | RE#

|

3

(8=1/100)



1B-HI Steel Pole 10.36m

*2J
2L
2Q
2T
3A

5A
58
5C
5D
SE
o

SH

K
L

IE
*80
BE
*9A
9F
L]

10C
*11

AR N

2in Insuletor{33kV}

'reformed Top Tie For AGSR13B(Wolt)
Aluminum bind wire

3racket for Pin Insulator 33kV

Crossarm Braceless Band for Steel Pol

PVG Protection Pipe

Stainless Band

Ring saddle for sus band

Ground Rod

—ead wire terminal for around rod 22sa.mn
prassion Connector{Cu22/22)

Compression Terminal

IV 22sq.mm
A 22sa.mm

olt&Nut M16-350

3quare Washer

33kV Fused Cutout Switch
3G Clamp ACSR158/PDC22
2DC22sq.mm

33kV Lighting Arrester

PG Clamp AUSK198/Gu1WU
Danger Plate

Flate for Japanese Flag

Distribution transformer

DESCRPT ON

2 10 36m
3 VEVBLL
3 HEPYA AGSHIdBMMZA
2 FILERIAVEE 40mm
]
] 15x79x3.2x2850 {Insulator}

8 —LRAVANIE(ARTER)

] A7

ATYVAINVE

ARTIVANIERTRN
18x1500

=&

8 )-ReEF
15 IRJ3 Cu22/Cu22

~

EXEF

2 TRIVFTURMIGKIIU

8 HE®

3 kv Ea—ZnVr7 O

3 MTIARIF AUSRIOE/ Guzz

3 3KV EEIF

AR79 AGSR158/Cu100
1 EERT
1 HBER

1 Hi®

I RA

DWG No. DL-E-11: Transformer Pole (Intermediate) (Pole Type J2)
DWG No. DL-E-11: 33kV ZERFAE (GIELA) EAEDIER] J2

3-65

(S=1/95)



%1 The method of assembling Auto Recloser is being examined.

Bt
*2J
2X
2Q
a
3A

SH
*K
*L

*GF

16
I+

L
Bt
#F
*YA
9F

ws

WG
*21

Steel Pole 10.36m

3in Insulator(33kV}

Jisc Insulator Set (33kV)
Aluminum bind wire

Bracket for Pin Insulator 33kV

Crossarm Bracelsss Band for Steel Pols
Stay Band 190
Vead £nd Grip For | himble
Stav Wire
Dead End Grip For Insulator
tay Insulator
Turmbuckle
stay Hod
tav Plate
3VC Protection Pipe
Stainless Band
ding seddle for sus band
Jround Rod
-eed wire terminal for eround rod 22sa.mm
Sompression Connector{Cu22/22)

Gompression Terminal

|V 2Zsq.mm
R ZZsd.mm

Comoression Terminal(PDG 22}

Bolt&Nut M16-120
Bolt&Nut M16-350

Sauare Washer

33kV Fused Cutout Switch
G Clamp AGSR168/PDG22
2DG2Zsa.mm

33kV Lighting Arrester

Danger Plate

Flate tor Japanese Fiag
Auto Recloser A:Pending
DESCRIPTION

ST 10.36m
33V EVHILY

T VIR VRR 4.0mm
AAEVMNLRMTERE 33K\
i 79%75%3.2¢2850 Unsulstor)

FT—=LIAVAINIE
X# AR D=19cm
12 BTV 227 VRHIMMLFE
145mm2
12 BTV 97T AL R4Smm2A
6 XMADLL IKVHA
& —=nvInN
6 XM
6 L=k
2 FPVCIAT
ATIVANIE
6 RATVLAYN
12 EEIRE 16x1500
8 J—FE&f
16 F@IRI% Cu22/Cu22

2 1IMIET

6 LMSEF PLUZZm

MIVMTYFMI6x120
RIVRT Y M16x350
RS
3 1kV EA—AZYMFIN
6 fMIRIF ACSR158/Cuz2
4

33y

RKAL

[L:]=]

DWG No. DL-E-12; Auto Re-closer Pole (Pole Type K)
DWG No. DL-E-12: BB/ BRIBREEHR B DER K

3-66

(8=1/95)



No.  Deserintinn Q1Y No.  Descriotion Q'Y
m Crossarm ) Disc Insulator 3
@  Crossarm Brace 2 (@  Anchor Shackle
Bolt&Nut Set 4 Ball Eve 1
Socket Eve 1
Crossarm Set (1 set) Tist Strop Set :
() Dead end Clamp
Comoression Connector 1

Suspension Insulator Set (3 sets

No.  Descriotion QTY Neo Descrintion QTY
Guy Band 1 ()  Stay Insulator 1

@  Dead end Grip for Thimble 2 ()  Turnbuckle 1
Guy Wire 1 Stav Rod 1
Dead end Grip for Insulato 2 Stay Anchor 1

Guy Wire Set (2 sets

DWG No. DL-E-13: Connection Materials for Existing Pole
DWG No. DL-E~13: EREX B FAEM (S=1/50)

3-67



1H  Steel Pole 12.5m 1 RFE 125m
2L Preformed Top Tie For ACSR158(Wolf) 3 [R&E A4 ACSR158mm2H

2J  33kV Pin Insulator 3 3¥kv EVALL

3A  Crossarm75x75xt3,2-2850(Insulator) BE 75x75x3.2x2850 (Insulator)
3G Crossarm Brace Flat Bar Type 2 T=L3(3A%)

5A  PVC Protection Pipe EHBRGEAPVC(T

58  Stainless Band 9 ATULARINVE
5C  Ring saddle for sus band 3 AFVLANRUFEYEL
5D  Ground Rod (i} an HHAE 16x1500
5E  Lead Wire For Ground Rod 4 1)—Rig¥

6

1

9F  Comoression GonnectoriCu22/22) ITHE AP GudL/ budz
5H Compression Terminal F iR
*5K IV 225qmm 13n
*¥5L A 22samm 10r

7A  Bolt&Nut M16-250 1 RILbFyM16x250
7B Bolt&Nut M16-220 RILRFvIM16x220
1C  Bolt&Nut M16-120 2 R+ ybM16x120
7E  Sauare Washer 8 AES

10B Danger Plate FRAL

10C Plate for Japanese Flag E#l

ARTNO DESCRIPTION g8

DWG No. DL-E-14: Intermediate Pole {Angle 0 to 5 deg]

DWG l;l;o. DL-E-14: 33kVE AL EHDIEFIAL
3-6



DWG No. DL-E-15: Light Angle Pole {Angle 5 to 15 deg]
DWG No. DL-E-15: 33kVkE E#t Bk DIERIBL

3-69



H

U

ZE
g

2T
M

stesl Pole 12.5m
Anchor Shackle
Gleavis

lwist Stran

Jead End Clamn for 33kVIAGSR Wolf)
33KV Pin Insulator

Bracket for Pin Post Insulator 33kV
Preformed Side Tie For ACSR158(Wolf)

it Insulator Sat 33kV

v Band 190
Jead End Grip For Thimble
tay Wire
Jead End Grip For Insulator
Stay Insulator
Turmbuckle
av Rod
Stav Plate
VG Protection Pine
tainless Band
Ring saddle for sus band
Ground Rod
L ead wire tarminel for eround rod 22sa.mm

Gompression | erminel

|V ZZsqmm

A 2Zsamm

Bolt&Nut M16-120

Bolt&Nut M16-400
luare Washer

nger Plate
’late for Japanese Flag

DESCRIPTION

2 WRE 125m

b rom—sev7iv

6 W—=ILFPA

[ 4

12 RLYARIYI

6 51W7707 SKvA

2 RV EZDLWL

2 MEVRUER
MEBF4 AGSR1D8mm;

-

1\F D=1%m
1709227 IWHASmmZ

‘L
218990

S

TRIL

ATVLVARINVF

RFVLANVERYFIL
B 16x16

=K@+

EfEa%R 2% Cu22/Cu22

i

PR N Y

3

FM16x120
R Ty hM16x400
BES

o

ERERRAL
B

T HE

DWG No. DL-E-16: Section Pole Pole Type EL
DWG No. DL-E-16: 33kVill 5| 4t EADIERIEL

3-70



10B
06

ART N

Congrete Pole 15.0m

Preformed Top Tie For ACSR158(Wolf)

33KV Pin Insulator

Crossarm75x75xt3.2-2850(Insulator)
rossarm Brace Flat Bar Type

Protection Pipe
3tainless Band
Ring saddle for sus band
Jround Rod
-ead Wire For Ground Rod

ression ConnectorlCuZ2/Zi

ompression Terminal
V 22Zsgmm
8 22sqmm
3olt&Nut M16-35V
3oit&Nut M16-300
Jolt&Nut M16-120
Square Washer

Janger Plate
Slate for Japanese Flag

DESCRIPTION

@

150m
RER4 ACSR138mm2H
13kV EVDL

BASE 75x75%3.2x285U (Unsulator)

P—LA4 (F@AE)
HRRAAPVC/ AT

RTVLANIE

RFUVANUERYFIL

16x1500

=R

ERIRIR Cu22/Cu22

EESET

T hM16x350
RIVBFURM16x300
RILbFYrM16x120
13

fElE® AL
-t

M BB

DWG No. DL-E-17: Intermediate Pole {Angle 0 to 5 deg] Type ALL
DWG No. DL-E-17: 33kVEIBLAE EAMFEFIALL

3-71



e

*C
*2J

1Q
4C
4D
4E

Soncrete Pole 15.0m
33kV Pin Insulator

rossarm Brace Flat Bar Tvoe
Stav Bend 210
Dead End Grip For Thimble
Stay Wire
Deed End Grip For Insulator
W Insulator
lurmbuckle
Stav Rod
Stav Plete
VG Protection Pie
Stainless Band
ng saddle for sus band
iround Red
-ead wire terminal for ground rod 22sa.mm

v 2Zsamm

A 22samm
Bolt&Nut M1A-350
Jatt&Nit M16-300
Jolt&Nut M16-120
Smuare Washer

Janger Plate
3late for Japanese Flaz

DESCRIPTION

1 |3»7Y—bE 150m
3 1 S3KY C/DL

2

1 R®/UF D=21cm
2 V2
Z BT

1 TR 33VA

1 i
1 =7V~

TYVANIE

| BT EME 1611500
|—Kig-+

F=

FaEF

a

whM16x350
~M16x300
YhM16x120

o N = —

'TYIHE

DWG No. DL-E-18: Angle Pole {Angle 5 to 15 deg] Pole Type BLL
DWG No. DL-E-18: 33kVkE 4t B DIERIBLL

3-72



*1C

Goncrete Pole 15.0m

2 1327 —rE 150m

2B Anchor Shackle 6 T~y

26 3all Cleavis R=LTA

2D Socket Eye Mok T4

2E  [wist Strep 2 BLYArI2Y/

ZF  }ead End Ciamp for 33kVIAUSR Wolt) S51W/ 74/ SSKVA
*2J  33kV Pin Insulator 33KV ELDL

Preformed Side Tie For ACSR158(Wolf) 2 B3 ACSR158mm2H
Pin Post Insulator 2 MEVBARR

i6 Insulator Set 33kV

40 Stav Band 21V 4 |STM/UF D=21em

4L Ueed tnd Gnp For | mmble

4V Stav wire JUMIE T ) D F MK/ IRADMMZ
4t Jead End Grip For Insulator 0 VBT YT AL F45mm2A
4 av Insulator 4 TR VA

44 [urmbuckle 4 /=199
4H v Rod 4 TIiE

4J)  Stav Plate 4 ZATL—+

5A  3VC Protection Pine 1 IEREREAPVC/ (T
5B  Stainless Band 9 RTVVANVE

5C  Ringz seddle for sus band

50  Ground Rod 6 MESTLEME 16x1500
5 Lead wire terminal for ground rod 22summ 4 |U—K@&F

5F  Compression Gonnector(Gu22/22) § [EREIR24 Cu22/Cu22
5H  Compression Terminal 1 EXSEF
WKV 2Zsgmm 15m
L amm

/G Holt&Nut M16-120

U Hoft&Nut M16-400

/& Sauare Washer 0 AES®

108 Danger Plate 1 IR

10C lete for Jepaness Flag 1 EHEA

DESGRIPTION YIEE

DWG No. DL-E-19: Section Pole Pole Type ELL

DWG No. DL-E-19: 33kVilI5 | &4 EHOFERELL
3-73



	第3 章 プロジェクトの内容
	3-2 協力対象事業の基本設計
	3-2-3 基本設計図
	(2) ブースター/キャパシタ・ステーション
	(3) 33kV配電線用装柱図






